
l*k||f]S; n#'ljQ ljsf; a}+s lnld ]̂* 
gf/fo)fu(, lrtjg 

n]vf k/LIf)f gePsf] ljQLo glthf 
cfly{s jif{ 2071.072 sf] bf];|f] q}df;df 

s|;= k"+hL tyf bfloTj  o; q}df; 2071 kf}if   ut q}df; 2071 cflZjg   ut cf=j= 2070 kf}if  
` s"n k+"hL tyf bfloTj      2,725,175,697.93        2,492,779,582.99      2,308,422,161.99  

1=1 r'Qmf kF"hL 
           

171,949,230.00  
            

127,369,800.00  
          

127,369,800.00  

1=2 hu]*f tyf sf]ifx?  
           

167,655,626.99  
            

205,565,439.83  
          

134,788,074.29  
1=3 C)fkq tyf a)*  – – – 
1=4 ;fk^L         1,569,271,645.53            1,420,802,851.01         1,457,170,035.32  
1=5 lgIf]k bfloTj        697,534,513.00         641,248,297.00       499,827,496.00  
1=5=1 ;d'xut           697,534,513.00             641,248,297.00           499,827,496.00  
1=5=2 ;j{;fwf/)f –   –   –   
1=6 cfos/ bfloTj             2,712,508.49               10,318,455.49  –   
1=7 cGo bfloTj            116,052,173.92               87,474,739.66            89,266,756.38  
2= s"n ;DklQ      2,725,175,697.93        2,492,779,582.99      2,308,422,161.99  
2=1 gub tyf a}+s df}Hbft           302,505,633.19             211,870,472.94           598,653,761.01  
2=2 dfu tyf cNk;"rgfdf k|fKt x'g]  – – –   
2=3 nufgL             20,010,000.00               20,010,000.00            30,010,000.00  
2=4 shf{ tyf ;fk^          2,276,211,455.00            2,153,687,546.00         1,576,027,334.00  
2=5 l:y/ ;DklQ             15,699,644.65               15,860,329.10            13,938,719.66  
2=6 u}/ a}+lsª ;DklQ                         –   –   –   
2=7 cGo ;DklQ           110,748,965.09               91,351,234.95            89,792,347.32  
3 gfkmf÷ gf]S;fg lx;fj  o; q}df; 2071 kf}if   o; q}df; 2071 cflZjg   ut cf=j= 2070 kf}if  
3=1  Jofh cfDbfgL            217,488,345.66             107,403,890.37           171,538,005.07  
3=2  Jofh vr{             60,510,519.20               29,080,275.87            62,724,588.02  
s= v"b Aofh cfDbfgL        156,977,826.46           78,323,614.50        108,813,417.05  
3=3  lkm, sldzg / l*:sfp)^               162,531.20                 162,531.20             1,700,629.83  
3=4  cGo ;~rfng cfDbfgL             18,632,435.05                9,391,040.05            11,447,189.00  
V s"n ;~rfng cfDbfgL        175,772,792.71           87,877,185.75        121,961,235.88  
3=5 sd{rf/L vr{            48,290,216.88               27,896,635.75            41,548,544.27  
3=6 cGo ;~rfng vr{             18,744,738.91                8,399,494.24            12,838,122.89  
U gf]S;fgL Aoj:yf cl#sf] ;~rfng gfkmf        108,737,836.92           51,581,055.76         67,574,568.72  

3=7 ;Defljt gf];fgL  Joj:yf              3,468,530.00                2,741,113.00             1,244,608.00  
# ;~rfng gfkmf        105,269,306.92           48,839,942.76         66,329,960.72  

3=8 u}/ ;~rfng cfDbfgL÷ vr{ -v''b_ –   –   – 
3=9 ;Defljt gf]S;fgL Aoj:yfaf^ lkmtf{  –                            –   –   
  lgoldt s[ofsnfkaf^ gfkmf       105,269,306.92           48,839,942.76         66,329,960.72  

3=10 c;fdfGo sf/f]jf/af^ ePsf] cfDbfgL÷vr{-v"b_                22,219.00                    6,754.00                82,256.00  
R af]g; / s/ cl#sf] gfkmf        105,291,525.92           48,846,696.76    66,412,216.72  

3=11 sd{rf/L af]g; Aoj:yf             9,571,957.00                4,440,609.00             6,037,474.00  
3=12 cfos/ Joj:yf            28,715,871.00              13,321,826.00            18,112,423.00  
% v"b gfkmf÷gf]S;fg          67,003,697.92           31,084,261.76         42,262,319.72  
4 cg'kftx?  o; q}df; 2071 kf}if   o; q}df; 2071 cflZjg   ut cf=j= 2070 kf}if  
4=1 k"FhLsf]if ÷ hf]lvd efl/t ;DklQ                     14.43                      15.08                    15.02  
4=2 lgis[o shf{÷ s"n shf{                     0.36                        0.37                     0.47  
4=3 ;Defljt gf];fgL Aoj:yf÷ s"n lgis[[o shf{                   356.16                     357.81                   299.39  
4=5 k"+hLsf] nfut                     5.43                       5.88                     6.97  
4=6 lgIf]k shf{ cg'kft                    30.25                      29.38                    29.46  

gf]^M ;'kl/j]If)f ug]{ lgsfo tyf afXo n]vf kl/Ifsn] yk÷#^ ug{ lgb]{zg lbPdf kl/is[t ljQLo ljj/)fdf km/s kg{ ;Sg]% . 
 

 
 
 
 
 
 
 
 



lwtf]kq btf{ tyf lgisfzg lgodfjnL 2065 lgod 22 pkljlgod -2_;+u ;DalGwt cg';'rL 14 adf]lhdsf] 
l*k|f]S; n#'ljQ ljsf; a}+s lnld^]*sf] cf=j= 2071÷072 sf] bf];|f] q}dfl;s laj/)f 

1= k|d'v ljQLo laj/)f M 
s= q}dfl;s cjlwsf] jf;nft, gfkmf gf]S;fg lx;fa ;DaGwL laj/)fM o; a}+ssf] jf;nft,gfkmf gf]S;fg ;DjlGw laj/)f o;};fy k|sflzt 

ul/Psf] %.  
v= Go"gtd ?kdf k|d'v ljQLo cg'kftx? lgDg adf]lhd /x]sf] %M– 

k|lt z]o/ cfDbfgL ?= 38.97 k|lt z]o/ g]^jy{ ?= 197.50 

k|lt z]o/ ahf/ d""No ?=     1,200.00  k|lt z]o/ s'n ;Dkltsf] d""No ?=  1,584.87  

d""No cfDbfgL cg'kft 30.80 t/ntf cg'kft 13.35 

2= Aoj:yfksLo laZn]if)f M 
s= q}dfl;s cjlwdf ;+:yfsf] df}Hbft, cfDbfgL / t/ntfdf s'g} kl/jt{g ePsf] eP ;f] sf] k|d'v sf/)f ;DaGwL laj/)fM sf/f]jf/sf] 

a[l$;+u} ;+:yfsf] df}Hbft, cfDbfgL, / t/ntfdf ;sf/fTds kl/jt{g ePsf] %. 
v= cfufdL cjlwsf] Aoj;flos of]hgf ;DaGwdf Aoj:yfkgsf] ljZn]if)ffTds laj/)f M a}+ssf] Aoj;flos l:ylt of]hgf cg'?k 

;Gtf]ifhgs /x]sf] % . o; a}+sn] ;+sng u/]sf] lgIf]k, shf{ nufgL tyf xfl;n u/]sf] d'gfkmf a[l$ ;DjGwdf k|sflzt ;'rsf+sn] k|i^ 
kfb{% . a}+ssf] cfDbfgL tyf t/ntf /fd|f] /x]sf] % . jflif{s sfo{of]hgf cg'?k sfo{s|d ;~rfng eO{/x]sf] %. a}snfO{ l%§}
/fli «̂o:t/df n}hfg] sfo{qmd % . 

u= lautsf] cg'ejaf^ ;+ul&t ;+:yfsf] df}Hbft gfkmf jf gub k|jfxdf tflTjs c;/ kfg{ ;Sg] #^gf cj:yf cflb ePdf ;f] ;DalGw 
ljZn]if)ffTds laj/)f M >f]tsf] nfut l:jsf/of]Uo ;Ldfdf /fVg Aoj:yfkg s[ofzLn /x]sf] %.  

3= sfg'gL sf/jfxL ;DjlGw laj/)f Mo; q}df;;Dddf o; a}+s tyf o;sf ;~rfnsx? dfly sfg'gL sf/jfxL ;DjlGw s'g} d'@f bfo/ ePsf] 
%}g. 

4= ;+ul&t ;+:yfsf] z]o/ sf/f]jf/ ;DjlGw laZn]if)f M 
s= lwtf]kq ahf/df ePsf] ;+ul&t ;+:yfsf] z]o/sf] sf/f]jf/ ;DaGwdf Aoj:yfkgsf] wf/)ffM o; a}+ssf] z]o/ sf/f]jf/ ;DjGwdf z]o/sf] 

vl/bstf{ / laqm]tflar x'g] :j:Yo k|lt:kwf{df a}+sn] d""Nodf c;/ kg]{ u/L s'g} e"ldsf v]n]sf] %}g . ahf/df z]o/sf] sf/f]jf/ 
;Gtf]ifhgs /x]sf] %. 

v= q}dfl;s cjlwsf] z]o/sf] clwstd, Go"gtd , clGtd d"No, sf/f]jf/ ePsf] s"n lbg tyf sf/f]jf/ ;+VofM o; q}dfl;s cjlwsf] z]o/sf] 
clwstd, Go'gtd, clGtd d""No, sf/f]jf/ ePsf] s'n lbg / sf/f]jf/ ;+Vof lgDg adf]lhd % . - g]kfn :^s PS;r]Ghsf] j]e;fO{^df 
cfwfl/t_ 

 z]o/sf] clwstd d""No M   ?= 1,330.00 
 z]o/sf] Go'gtd d""No M   ?=  875.00 
 z]o/sf] clGtd d""No M   ?= 1,200.00 
 z]o/ sf/f]jf/ ePsf] s'n lbg M    45 lbg  
 z]o/ sf/f]jf/ ePsf] s'n ;+Vof M    43,871 lsQf 

5= ;d:of / r'gf}tL M ;+VofTds ?kdf a[l$ ePsf] ljQLo ;+:yfx?sf] zfvf la:tf/n] n#'ljQ If]q lbg k|ltlbg bf]xf]/f]kgf;lxt k|lt:kwL{ x'b} 
uO{/x]sf] % . o; l:yltdf klg a}+sn] cfkm\gf] ljQLo :yLlt ;'wf/ tyf sfo{s|d la:tf/ ub}{ uPsf] % .  

6= ;+:yfut ;'zf;gM a}+ssf] ;+:yfut ;'zf;gsf nflu sDkgLsf] n]vfk/LIf)f ;ldlt, ;+rfns ;ldlt, hf]lvd Aoj:yfkg ;ldlt sd{rf/L 
;DaGw ;ldlt nufot laleGg cfGtl/s ;ldlt tyf pk–;ldlt dfkm{t sDkgLsf] Aoj;flos of]hgf tyf sfo{s|dsf] gLlt th'{df u/L ;f]xL 
adf]lhd sfo{ ;Dkfbg x'b} cfO{/x]sf] % . a}+ssf ;~rfns / sd{rf/Lx? G]fkfn /fi^« a}+sn] a]}+s tyf ljQLo ;+:yfx?nfO{ hf/L u/]sf] 
;+:yfut ;'zf;g ;DjlGw lgb]{zgx? Kffngf ug{ ;b}j k|ltj$ /xL sfo{ ul//x]sf %g\ . 

7= ;To tYotfsf] ;DaGwdf sfo{sf/L k|d'vsf] pb\#f]if)fM cfhsf] ldlt;Dddf o; k|ltj]bgdf pNn]lvt hfgsf/L tyf laj/)fx?sf] z'$tf 
;DjGwdf d AoflQmut ?kdf pQ/bfloTj lnG%' . ;fy} d of] pb#f]if)f ub{%' sL d}n] hfg] a'dm];Dd o; k|ltj]bgdf pNn]lvt laa/)fx? 
;To, tYo / k")f{ %g\ / nufgLstf{x?nfO{ ;';"lrt eO{ lg)f{o lng cfjZos s'g} laj/)f, ;"rgf tyf hfgsf/Lx? n'sfOPsf] %}g .  

 


